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Bartlett’s K-squared = 2.0911, df = 2, p-value = 0.3515
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r <- cov(X,Y)/sqrt(var(X)*var(Y))
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n <- length(X)
t0 <- r*sqrt(n-2)/sqrt(1-r-2)
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data(ToothGrowth)
attach(ToothGrowth)
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Pearson’s product-moment correlation

data: dose and len
t = 10.2501, df = 58, p-value = 1.243e-14
alternative hypothesis: true correlation is not equal to O
95 percent confidence interval:
0.6892521 0.8777169
sample estimates:
cor
0.8026913
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XX <- data.frame(X=seq(range(X) [1],range(X) [2],length=20))
plim <- predict(res, XX, interval="prediction")

clim <- predict(res, XX, interval="confidence")
lines(XX$X, plim[,2], 1ty=2)

lines(XX$X, plim[,3], 1lty=2)

lines (XX$X, clim[,2], 1ty=3)

lines (XX$X, clim[,3], 1lty=3)

goooooo



~HH A
000000 Fe-Test WakoOOOOQOQOUOOOOOOOOODLOOOOoOOO 0,0.5,1,2(mg/L)DD
0000000000000 0000000D00D00000O0S2nmmO000000000000.012,
0.058, 0.104, 0.193 0 0000000000 0O0ODOODOODOO0OODOODOOOOOOODOOOOOO0
600000000000000000000000O0D00D0000 0.107, 0.075, 0.077, 0.099, 0.096,
0108000000000 e00DOOOUDODOOOUODO

J

00000 conc00000 absO0 00000000 OOconcO0000absO0000O0O0O0OODOOODDOO
000000000 plot(abs™conc) DO DO DOOplot(conc,abs) OO D OODOOOMI

conc <- c¢(0, 0.5, 1, 2)
abs <- ¢(0.012, 0.058, 0.104, 0.193)
plot(abs”conc)
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res <- 1lm(abs~conc)
abline(res)

summary (res)
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dat <- ¢(0.107, 0.075, 0.077, 0.099, 0.096, 0.108)
(dat-res$coef[1]) /res$coef [2]
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